


FEREE THERE

1. —TCRBTRax” +bx +c =0(a # 0) [1901 ST DMEFIRT ]
(1) #%:
DOPEEZ: FHax’ +bx+c=a(x—x)(x—x,)=0@=0), Wx=x3Lx=x,.
DA BRI 53, - L (sypp; w=- L)
a

2a
>0, AW (Sx3hE 2138 5) 5
(2) {REHIBI: A=b"—4aci=0, HP DR SZHR (SxfA1NAE A)
<0, BAHSELFUR (5xFEA A A) .

(3) BEREIXR (BEER) : x4x,=2  x.x=C
a a

2. 2RERE [ 2101 [E)@askAg |
(1) —M=L: y=ax’+bx+c
2 2
(2) == y= a[x+ij + dac=b
a 4a
(3) ==k y=alx—x )x-x,)
SERNWELS#E (+183E) [2001 [E-EIKAE ]
PIan: K3x? —2x—-8ENDMR. #F: TXIMREMOEN3=1x3, BEIN-8=-2x4, XXk
E3x(-2)+1x4=-2, —2 A —RIARL.

FTLA3x® —2x -8 =(x—2)(3x+4)

A BRAFEEAT [ 2001 [EEERAEE |

(1) FEBFEAR: (a+b)a-b)=a’-b’
(2) ZE2FEBRK: (axb)’ =a’ +2ab+b°
(3) MAFIRA: (a+b) =a’+b’ +3a’b+3ab’
YEENN: (a-b)’ =a’-b’ -3a’h+3ab’
(4) FHRIBFAR: o’ +b° =(a+b)a* —ab+b*)
ZWBE AR a’ —b’ = (a—b)a” +ab+b)
5.F#. &% [ 2101 [GEKRE |
(1) FRE: WR—PKTF 1 A0EEE, Reei 1 eSS LR, BBARMENHEREL (3ZR=E) Fu0:

(2) B8 —PAT 1898H, BRTBEM 1 FIASEIRIL, TReRE b IEEELEEL:, XA S
#H.e0n: 4. 6.9 CEE, BN\EERE4.)

1 EARRHMBAREH, 228/ . E—HBRE.

SO ARRIEEHE 104 2 3 65 7 11 13 17 19 23 29.
6.LHRVEERR [ 1901 SRA4FTTHMHEFIMT ]

AEM 2 EEERROEL MUNBEL, 0, 2, 4, 6, 8.




FEREE THERE

Bt 3 EEPRAVEL. SLEFZFLEEN 3 EFR.
e 5 EEPRAYEL: ML 08k 5.
BEM O ZEIRHOEL: SAEF ZMIBER O ZEIR.
et 10 EEPRAYEL. MU 0.
7 EFHEEHAEEER [1801 FHEFTHIEHMT ]
BE + IBE=1BEL BEBE={REL
BT+ FEBE FECTH=TE
T BE=5TE BTEBE=1BEL

8 AEXIEMEIER [ 2101 SA755 M1 |
(1) 3978 |~d| =]a]; (2) Bt
(3) &ttt Dla|=va® » @laf =a*;  (4) fesatk:
LEEFIEEEAMRNECNETEN, VEMEREMRAE.
JA) +|B)+(C)"=0=4=B=C=0

9.19(EFE [1801 [BIRKAR ]

(1) a*+b* >2ab(a,beR) , (2) a;bZ\/%(a,beRJ'),

(3) 2+£22(ab>0), (4) l+0122(aERJ'),l+aS—2(aeR’)
a b a a

10.FEREDLLERE [ 1701 [ERERER. FEFToHEHIE ]

ALy |£JWE-J?%@|
AR == ——x100%="—nn-—
ALY R TR 00% A

RRENa, THER p% , ELFH p% , WEHE=al+p%) , ETE p% , WE{E=al-p%).
MABBIIEETRE [ 2101 BREKER . FMHFToMEFIRT ]

x100%

S +S
(1) EiE: IS8 SEEFENE =12 0BE. Zie L BFmEE =

v, +V, Vv, =V

(2) EEiEz (BEAS )
DREIEH: BB—R: Sy —S, =S B1EBnR, WS, S, =n-S ;
CABEHEH: BB—IR: S, +S, =S EIBBNR, WS, +S, =n-S.
12 AERHERAEITER [ 2101 EDEERER. SHTEH MR ]

Nl Vig = Vg + Vg
(1% SCZVINEIE U S22 B =V =V =2 vy
Vie = Vig =V
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13 FEE= (+=485%) [1901 FM4FEo1E+I#T ]

JRIE: B DR A. BRED, ASRDRIEES X T a, BEDRIMEBY 16, A*BRIF
WERNCc, WEITR+FRENERK A BHEZ:

A: b

a c—
Ne 7
B b ./ N\a-c
147878 [ 2101 [BRAR ]
. Ay
(1) wk=aEean (2) W =20 1005
B
15,5257 [ 2101 [ERKRE . AT MHEFIRR 1
(1) BIRAT e, =a,+(n-D d(dRNFEE ne N a,=a,+(n—m)d(dNFEE, m. neN").

(2) SEBFUOE n THAAT 5, = e, 20,

SRR T n RIS, BTk S, HUSE: sn=<§>n2+<al—§>n, (A2 d+#0)

(3) Rmrz: 2a,,=a,+a,,(neN")
(4) THfIERR: siRm+n=p+q, Wa, +a,=a,+a,(mn,p,geN").

16. 203051 [ 2101, 1901 &4FHHEHINT 1
(1) BIRAR a, =a,q" " (gNFEE,ne N )T AR a,=a,q""(gNFEE,n. meN").

na,.(q =1)
(2) SZEHFI080 N TAIAT S, =1 4 (11_— (;1") iy all__‘;"q (g#1)

(3) PIRAR: a.,, =a,-a,,, (n € N*)

(4) THrFO0ERE; HEm+n=p+q, Na,-a,=a,-a,(mn,p,geN").

17 P985 [ 1901 [EREsKeg ]
(1) FATULR: ERS=ah. (2) 5EF: FIKL=2(a+b); EIRS =ab .

(3) &= EﬁRS:%llxlz (MENBEFIR—F) o (4) ESH: BRKL=4a; BRS =4

(5) B E#RS=%(a+b)ho

18.B55 [ 2201 [o&&kiZ ]
(1) &: BKI=2zr=7rd; Eﬁz‘:%':ﬂrz:%dz;

2
(2) Bf: ATEEF OAB th, EEILEH 0, I AB amez:%, BE HS=n37Z6I§)
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CEENEROIE, N AR = RO, ﬁﬁzmﬂs:%mzém

19.326K/118 [ 2201 [SEERAR. SAEFEAM LRI |
(1) KI5tk REIRS = 2ab+be+ac); HKIRV =abe; KIBE. 4 —Ja? 457 1.2

(2) BHER: MERRS =27k ; REIR S = 272rh+27r7 ; BBV = 117k

(3) BRph: FER: S,=47RES,=7D* ( pEFWER) ; #I: V=§nR3EiV=%ﬂD3

20.FEMETIUE [2101. 2001 [SRESRER . 4T MEFIET |

(1) WREREEBA: |PP|—\/(x2—xl) +(3, =)
(2) 5 P(x,y) &R PP HsS, UP,ﬁéléﬁﬂax:xl;xz,y:yl;yz,
|4x, + By, +C| .

N A* + B?

(3) RP(x,.y,) BIEE Ax+ By+C=0RJEER: d=

|C1_C2|

21 BEESERUEXRE=M: (AREKRIFELES ) [2101 [EEKRE. RMEF7oMHEHIRT ]

(4) MEF(TE Ax+By+C, =05 4x+By+C, =0 NIEEEd =

B#% Ax+By+C=0 58 (x-a)’ +(y-b)’'=r" U EBEXRXR: BOIBELNES:

~ |da + Bb +C|
S JaiiB
d>re e, d=ro ), d<rot
20 HEBIEA [ 2201 BEskAR |
(1) #5): Mn ARETES, EEEE m AR, KR —EIRFR—3), FaHEIR.
n!
(2) e M n AFETES, EEEH m AN TEHh—E, FaEanms. -2

P" ml(n—m)!

P"=n(n-1)(n-2)--(n—-m+1)=

BEHLIA: G/ =C". C,=Cl+C C)=C, =1




